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Appendix

Linear regression analyses

The figures presented here are the results of the four pumping test analyses performed in the
pilot-scale artificial aquifer in the WWTP of Palamos. Each figure represents the results for a
given piezometre and a given pumping test, and the plots are organised in rows according to
the method of analysis, which are the following (from top to bottom): Theis drawdown, Theis
recovery, Agarwal recovery, and modified Agarwal recovery. The plots in the left column are
presented with time on a linear scale, and those on the right are presented with time on a
log.o scale. It is the latter which are used to perform the linear regression analyses from

which the relevant hydraulic parameters are determined.
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Figure A.1. Linear regression analysis of drawdown and recovery data for piezometre B1 for PT1.
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Figure A.2. Linear regression analysis of drawdown and recovery data for piezometre BCP1 for PT1.
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Figure A.3. Linear regression analysis of drawdown and recovery data for piezometre BCP2 for PT1.
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Figure A.4. Linear regression analysis of drawdown and recovery data for piezometre DCP1 for PT1.
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Figure A.5. Linear regression analysis of drawdown and recovery data for piezometre DCP2 for PT1.
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Figure A.6. Linear regression analysis of drawdown and recovery data for piezometre C1 for PT1.
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Figure A.7. Linear regression analysis of drawdown and recovery data for piezometre A3 for PT2.
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Figure A.8. Linear regression analysis of drawdown and recovery data for piezometre B1 for PT2.
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Figure A.9. Linear regression analysis of drawdown and recovery data for piezometre BCP1 for PT2.
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Figure A.10. Linear regression analysis of drawdown and recovery data for piezometre BCP2 for PT2.
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Figure A.11. Linear regression analysis of drawdown and recovery data for piezometre DCP1 for PT2.
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Figure A.12. Linear regression analysis of drawdown and recovery data for piezometre DCP2 for PT2.
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Figure A.13. Linear regression analysis of drawdown and recovery data for piezometre C1 for PT2.
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Figure A.14. Plot of u versus log(t) for the data used in the drawdown analysis of pumping test 2, to

demonstrate the validity of the range of datapoints selected.
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Figure A.15. Linear regression analysis of drawdown and recovery data for piezometre A3 for PT3.
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Figure A.16. Linear regression analysis of drawdown and recovery data for piezometre B1 for PT3.
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Figure A.17. Linear regression analysis of drawdown and recovery data for piezometre BCP1 for PT3.



T. B. Lock i Feixas

Environmental Engineering

0.12 0.12
y = 0.0250092 — 0.020799
010 010 Rz = ().8631
0.08 0.08
= =
o006 Z 006
0 w
0.04- 0.04
0.02- 0.02
0.00 0.00
—0.02 , : 1 P
0 200 400 600 002 5 : 3
t / min log(t / min)
0.12- 0.12- )
y = 0.023976z + 0.006015
0.10- 0.0  £=02065
0.08- 0.08-
006 Z 006
@ oy
0.04- 0.04-
0.02° g , 0.02-
0.00 r 0.00
—0.027 0 10 60 S0 —002475 05 10 15 50
t—1;
i g (1%
0.12- 0.12
y = 0.0525547 — 0.064720
0.10- 0.10/ B =04161
0.08- 0.08
a =
2006 006
-, -
“0.04 0.4
0.02- 0.02
0.00¢ < 0.00
002y 20 25 —0.02 12 13 11

A log(ta)



T. B. Lock i Feixas

Environmental Engineering

0.12 0.12
y = 0.0145192 — 0.014986
2 o
0.10 pio A7 =0.8037
0.08 0.08
~ 008 006
£ e
= £
0.01 0.04-
0.02 0.02-
0.00 0.00-
—00 00 200 300 400 500 600 700 —0.02 , (
o o ) ! ~L0 —05 00 053 10 15 20 25 30
fin 10@,(% A)

Figure A.18. Linear regression analysis of drawdown and recovery data for piezometre BCP2 for PT3.
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Figure A.19. Linear regression analysis of drawdown and recovery data for piezometre DCP1 for PT3.
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Figure A.20. Linear regression analysis of drawdown and recovery data for piezometre DCP2 for PT3.
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Figure A.21. Linear regression analysis of drawdown and recovery data for piezometre C1 for PT3.
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Figure A.22. Plot of u versus log(t) for the data used in the drawdown analysis of pumping test 3, to

demonstrate the validity of the range of datapoints selected.
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Figure A.23. Linear regression analysis of drawdown and recovery data for piezometre A3 for PT4.




T. B. Lock i Feixas

Environmental Engineering

0.12 0.12 )
y = 0.019873z — 0.005144
0.10 0.10- R =0.8642
0.08 0.08
F A oos
o oy
0.04-
0.02
0.00
—0.0275 00 200 300 400 002 0 1 5
t / min log(t / min)
| 0.12-
0.12 y = 0.036673x - 0.015766
0.10- 0.10- R? = 0.8337
0.08 0.08-
g2 = .
F 006 F o006
n w
0.021 0.02
0.00! | 0.00-
—0.027; 5 @ s 10 % o0 05 10 15 2.0
= (s
t—ity log t—t
0.12 0.12
0.10 0.10
y = 0.034380x — 0.0262411
0.08 0.08 R =09329
1 0 i 5




T. B. Lock i Feixas

Environmental Engineering

Sma /M
.:'J
ja]

0.00 ,gf

—00275 50 100 130 200 250

tm A

Sma /0

0.12
0.10
0.08
0.06
0.04
0.02

0.00

—0.02

y = 0.029695z — 0.021234
R? = 0.9204
-1 0 1 2

10g( th)

Figure A.24. Linear regression analysis of drawdown and recovery data for piezometre B1 for PT4.
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Figure A.25. Linear regression analysis of drawdown and recovery data for piezometre BCP1 for PT4.
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Figure A.26. Linear regression analysis of drawdown and recovery data for piezometre BCP2 for PT4.
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Figure A.27. Linear regression analysis of drawdown and recovery data for piezometre DCP1 for PT4.
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Figure A.28. Linear regression analysis of drawdown and recovery data for piezometre DCP2 for PT4.
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Figure A.29. Linear regression analysis of drawdown and recovery data for piezometre C1 for PT4.
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Figure A.30. Plot of u versus log(t) for the data used in the drawdown analysis of pumping test 4, to

demonstrate the validity of the range of datapoints selected.



